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1 2000 TERC
Month P (mm) | ET (mm) | IF (mm) | GWL (m)
1 61.0 42.3 -1.90
2 54 17.1 -1.93
3 65.2 435 -1.99
4 93.5 78.2 -1.74
5 223.5 111.3 -1.43
6 226.5 94.0 -1.49
7 168.9 142.1 -1.42
8 29.0 106.9 -2.00
9 187.0 48.6 -2.04
10 167.8 76.0 -1.67
11 88.0 90.3 -1.59
12 2.6 15.6 -1.84
Total
GWL
2a 2000 3 20 1
Hour wr' Rn G H LE ee ET lys LE lys
1| -0.0153 -40.7 -0.6 -18.5 -21.6 -0.02 -13.6
2| -0.0150 -35.5 -2.3 -18.1 -15.1 0.03 20.4
3] -0.0188 -59.4 -3.5 -22.7 -33.2 -0.04 -27.3
4] -0.0370 -72.8 -7 -44.6 -21.2 -0.01 -6.8
5] -0.0233 -59.4 -9.9 -28.1 -21.4 0.00 0.0
6] -0.0205 -61.1 -12.8 -24.7 -23.6 0.00 0.0
71 -0.0195 -16.3 -12.8 -23.5 20.0 0.07 477
8 0.0288 112.3 -7.6 0.08
9 0.0908 252.6 2.9 0.06
10 0.1913 339.3 15.7 0.12
11 0.3505 393.4 25 0.04
12 0.3005 456.3 28.5 0.09
13 0.2398 318.4 30.2 0.03
14 0.2795 412.6 26.7 0.09
15 0.2073 292.7 23.8 0.00
16 0.1803 204.3 17.4 0.00
17 0.0818 425 9.9 -0.02
18 0.0078 -85.6 2.3 0.05
19] -0.0255 -97.2 -5.2 -30.8 -61.2 0.00 0.0
201 -0.0345 -82.6 -10.5 -41.6 -30.5 -0.01 -6.8
211 -0.0178 -68.7 -15.1 -21.5 -32.1 0.00 0.0
221 -0.0255 -67.5 -18.6 -30.8 -18.1 -0.02 -13.6
23| -0.0128 -59.9 -20.4 -15.4 -24.1 -0.03 -20.4
24| -0.0025 -57 -22.1 -3.0 -31.9 0.00 0.0
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2b 2000 5 29 1
Hour w'r' Rn G H LE ee ET lys LE lys

1| -0.0223 -54.7 -35 -26.9 -24.3 -0.01 -6.8
2| -0.0115 -46 -5.2 -13.9 -26.9 0.01 6.8
3| -0.0025 -33.8 -8.1 -3.0 -22.7 -0.04 -27.3
4] 0.0003 -32 -11 0.4 -21.4 0.00 0.0
5| -0.0083 -23.3 -12.2 -10.0 -1.1 0.00 0.0
6] -0.0093 25.6 -11.6 -11.2 48.4 0.22 149.9
7] -0.0038 914 -5.2 -4.6 101.2 0.06 40.9
8| 0.0328 419 35 0.19
9] 0.0895 551.7 15.7 0.29

10] 0.1483 696.7 28.5 0.36

11| 0.1880 765.9 44.8 0.44

12| 0.2393 775.8 57 0.55

13] 0.1980 787.4 57 0.55

14] 0.1058 615.2 50 0.45

15| 0.1285 582 40.1 0.40

16|/ 0.1105 425.4 32 0.62

17] 0.0353 246.2 23.3 0.22

18] 0.0020 63.4 145 0.11

19] -0.0083 -47.1 5.8 -10.0 -42.9 0.00 0.0

20 -0.0235 -83.8 -1.7 -28.3 -53.8 0.03 20.4

21| -0.0240 -72.2 -4.1 -28.9 -39.2 0.03 20.4

22| -0.0203 -58.8 -6.4 -24.5 -27.9 0.01 6.8

23| -0.0175 -44.8 -9.9 -21.1 -13.8 -0.04 -27.3

241 -0.0173 -43.7 -12.8 -20.9 -10.0 0.00 0.0

2c 2000 8 23 1
Hour wr' Rn G H LE ee ET lys LE lys

1| -0.0085 -15.1 0.0 -10.3 -4.8 0.00 0.0
2| -0.0093 -18.0 0.0 -11.2 -6.8 0.00 0.0
3| -0.0080 -25.0 -0.6 -9.6 -14.8 0.00 0.0
4| -0.0088 -22.1 -0.6 -10.6 -10.9 0.00 0.0
5| -0.0058 -8.7 -0.6 -7.0 -1.1 0.00 0.0
6] -0.0045 5.2 -0.6 -5.4 11.2 0.00 0.0
7] -0.0018 50.6 0.0 -2.2 52.8 0.03 20.4
8| 0.0055 88.5 1.2 0.06
9] 0.0118 165.9 2.3 0.10

10 0.0573 313.1 4.7 0.21

11/ 0.0858 465.0 7.0 0.30

12| 0.1115 650.7 116 0.49

13/ 0.0680 495.3 14.0 0.47

14| 0.0715 437.1 134 0.42

15[ 0.0650 499.9 12.8 0.45

16/ 0.0378 289.3 11.6 0.35

17 0.0148 108.8 9.3 0.17

18| -0.0053 9.3 6.4 0.07

19/ -0.0103 -30.8 4.1 -12.4 -22.5 0.04 27.3

20| -0.0100 -34.3 2.3 -12.1 -24.5 -0.01 -6.8

21| -0.0115 -22.1 1.2 -13.9 -94 0.00 0.0

22| -0.0085 -15.1 0.6 -10.3 -54 0.00 0.0

23| -0.0078 -13.4 0.0 -94 -4.0 0.01 6.8

24| -0.0065 -16.9 0.0 -7.8 -9.1 -0.02 -13.6




X' X cmH20 Y cmH20 @ cmH20
cfn chr;l cmH20
t=0min| 5min 20min [ 40min [ 100 min [t=0min| 5 min 20min | 40min | 100 min [t=0min| 5 min 20 min [ 40 min | 100 min
5 8 -10 65 20 10 5 10
10 3 -15 60 5 0 0 0
20 15 0 80 80 50 40 40
30 15 -15 80 80 45 40 40
50 15 0 100 100 100 80 80
80 15 0 120 120 120 120 110
30m A)

16,123,295
16, 295

20

(B)

http://hojyo.suiri.tsukuba.ac.jp/hojyo/terc_current_j.html

http://www.suiri.tsukuba.ac.jp/hojyo/database.html
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